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⑨ Vector spaces : R2

E-.Notion of space :⇔→←⇔
y y

Possible to reach any point in the IR
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space by
combining in-Earvectors w/ apt . weights

Informally : everything you can make by combining a
given set ◦
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⑦ Column space : All possible vectors that can be formed

[(A) by a weighted combination of A's
column vectors .
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If AE = b-
,

then lol . space is the union of
- all possible is vectors

③ Row Space : All possible vectors that can be formed
by a weighted combination of A 's
row vectors
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Example : A =
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A = IF C- row space of A = union of all feasible
IT vectors .
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Question : Is RCA) and CCA) identical for
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⑨ Vector space : set of an vectors W that satisfies 3 conditions

① if ÑEW ,
Ñ c- W

,
then a-+FEW

② if ÑEW ,
and C.ÑEW ,

c-_ constant

Question : space or not ?
③ Vector J c- W

,

C) 2D plane ? Yes
"¥8B.one quadrant ? No

(3) Line N=y ? Yes y a

(4) Zero vector ?Yes% [
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③ Popular matrix Equation : AI = b
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③ How do you solve this ? [ A ][&] = [
'

b
,]- Somehow make A

- Get to a form like

[4--16]
- Gauss - Jordan : ✗_ = A-I b-

- How do you get A-
' ?
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